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Kinematics Exam Review 

 
Directions – Complete the following problems to help prepare you for the upcoming test. 

 

 

 

 
   

 
a = 

Dv

t
 = 

0 - 1.5 m/s

2 s
 = - 0. 75 m/s
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aavg 
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(a)  t = 4 s and t = 18 s 

(b) The speed of the 

cart is increasing 

during the intervals t 

= 4s – 9s and 18s – 

20s. 

  

A = 1/2 bih + 1/2 bih

Dx = 1/2 (4 s)(0.8 m/s) + 1/2 (5 s)(-1.0 m/s)

Dx = -0.9 m  

x = x
0
 = Dx

x = 2.0 m + (-0.9 m)

x = 1.1 m 

Dx = v
i
t + 1/2 at2

Dx = (0.8 m/s)(9 s) + 1/2(-0.2 ms2)(9 s)
2

Dx = -0.9 m

x 

x 

 

(e
i
)  t = 

2y

g
 = 

2 (0.40 m)

9.8 m/s
2

 = 0.29 s or 0.28 s

x = vx t = (0.8 m/s)(0.29 s) = 0.23 m or 0.22 m 
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